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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2
T2-1

- MATHEMATICS SECTION 2

51, Leon is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money;, in dollars,
Leon has raised based on the number of candy bars he has sold.
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The pattern continues.

A. Which axis represents the number of candy bars sold?

The X-0X\S

B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 2
T2-1

- MATHEMATICS SECTION 2

51.  Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.
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-Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount.

D. Whatis the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work.
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PSSA Math: Leon's Candy Bar Sales (Grade 5); Training Set 2
12-2

Leon is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
LLeon has raised based on the number of candy bars he has sold.

Leon’s Candy Bar Sales
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The pattern continues.

A. Which axis represents the number of candy bars soid?
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B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.
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PSSA Math:

Leon's Candy Bar Sales (Grade 5); Training Set 2 T2_2

Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.
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Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount.

D. What is the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work. -
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2
12-3

- MATHEMATICS SECTION 2

51. Leon s selling candy bars for a school fundraiser. He raises $3.00 for each candy bar

he sells. The graph shown below represents the total amount of money, in doliars,
Leon has raised based on the number of candy bars he has sold.

Leon’s Candy Bar Sales
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The pattern continues.

A. Which axis represents the number of candy bars sold?
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B. Wiite the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2

T2-3
- MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.
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Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is '
to raise at least 2.5 times that amount.

D. Whatis the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work.
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2
T2-4

| MATHEMATICS SECTION 2
51. Leon s selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dolfars,
Leon has raised based on the number of candy bars he has sold.

Leon’s Candy Bar Sales
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The pattern continues.

A. Which axis represents the number of candy bars sold?

4,13

B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.

Lo b,
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2

T2-4
| MATHEMATICS SECTION 2

51.  Continued. Please refer to the previous page for task explanation.

C. Explain why itis not possible for any of the points on the graph to have a '

yjigr?dmgtmmd not be on yhe y-(oodinae
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Last year, Leon raised a total of $240 from his candy bar<sales. This year, his goal is
to raise atleast 2,5 times that amount.

D. Whatis the fewest candy bars Leon needs to sell to reach his goal for this
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2
12-5
- MATHEMATICS SECTION-2

51, Leonis selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.
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The pattern continues,

A. Which axis represents the number of candy bars sold?

X ouxis

B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.

L, 1%,
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2

12-5

MATHEMATICS SECTION 2

51. Continued. Please refer to the previous page for task explanation,

C. Explain why it is not possuble for any of the points on the graph to have a
y-coordinate of 77,

sy 77 cob e 112
Pg évm:meao/z canky f
(.f° *"3 Oﬂ 3 JD '{‘ ge me'o 77 eq/ualy

— — - = — T e ey

‘Last year, Leon ratsed a total of $§40 from hzs candy bar sales . This year, his goal is
to raise at least 2.5 gtg%s that amount,

D. What s the fewest candy bars Leon needs to sell {o reach his goal for this
'year? Show or explain all your work.

QU 0+3=5%0
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2 T2-6

Leon is selling candy bars for & school fundraiser, He mises $3.00 for gach candy bar he sclls. The graph shown beiow represents the total
amoeunt of money, in dollars, Leon has. talsed based on the numbaer of candy bars he has sold,

Leon's Candy Bar Sales
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The pattern continues,
A, Which axig reprasants the number of candy bars sald?

H

the ¥ - ais

B. Writa the ardered pair that represents the amount of money Leon raises for selling 6 candy bars,

{

5,16

16,6
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C. Explain why It Is not possitia for any of the points on the graph {o have a
y-coordinate of 77.

:u is nut possitla because e y-axis is counting the money Leon eamad b‘,vf‘
2.0t it was counting by 11 then getting to 77 1s possible. :
kEEURT: 1]

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is o raise at least 2.5 times that amount.

D. Whatis the fewest candy bars Leon neads (o sall 1o reachi hls goal for this year? Show or explain sl your work,

i‘rhs fewes! number of candy bars Leon needs to sell is 33 candy bars,

| 1Bx33+6=600

LaFR 1 o]



csloan
Text Box
PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2

csloan
Text Box


PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2
T2-7

[ MATHEMATICS SECTION 2

51. Leonis selling candy bars for a schoo! fundraiser. He raises $3.00 for each candy bar
he selis. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.

Leon’s Candy Bar Sales
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The pattern continues.

A. Which axis represents the number of candy bars sold?
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B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.

618



csloan
Text Box


PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2

MATHEMATICS SECTION 2

51.  Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.
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Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount.

D. Whatis the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work.,
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2 T2-8

Leon is selling candy bars for a schoot fundraiser, He raises $3.00 for each candy bar he sells, The graph shown below represents the fotal
arount of monay, in dollars, Eeon has raised based ari the number of candy bars he has sold,

Leon's Candy By Sales
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The pattemn continues,
A. Whith gxis ropresents 1he numbers of candy birs sald?

The v axis represenis the |
number of candy bars sold

8. Wrile tha ordered pair thal reprasents the amount of money Léon ralses for selling 8 condy bars,
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C. Explain why it is not possitle for any of tha points on the graph to have a
y-coordinate of 77.

ﬂ Is ot possible for any of the poinis on the graph 1o have a y-tooridinate
BITT because 77 is not a multiple of 3, . I
16 ¢ 1000

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is io raige at least 2.5 timas that amount.

D. What s the fewest candy bars Leon needs (o sefl 1o rench big goal for (his year? Show or explain all your work.

The fewest amount of candy bars Leon needs 1o sell to raach bis goal is
200, | did this by doing 200 x $3.00 = $600.00 which reaches his
goal of $600.00 doliars, That is why 200 candy bars are the least amount of

sandy bars he needs fo sell ta reach his goal of $600,00 doliars,
FEFENE: ]
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2 T2-9

Leon is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar he sells. The graph shown below represents the ko!al
 Armount of monay, in dollarg, Leon hag raised based on the number of candy bars hes has sold,
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The patiars continues,
A Whith axis represents e number of candy bars sold?

1 The X axis is 1he number of
candy barg sofd

B, Write the orderod palr thal reprosents the amount of maney Loon raises for seliing 6 candy bars,
{
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C. Explam why il ls not ;msslme 1or any of the polms on the graph s have a
y-coardinate of 77.

g is not possible because 77 1s not & multl;ﬂe of 3 and lhey Are going hy
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Last year, Leon raised a total of $240 from his candy bar sales, This year, his goal is o raise at least 2.5 times that amount.

0. What ls the fewest candy bars Leon neads 1o sell to reach his goal for this yenr? Show or explain all your work,

The fewest money he needs to raise is 588, i did the amount of his ?oal

‘and it was 60D, 1 got thal by multipling 2.5 and 240 and then i lopk

‘amount far this year and subracted It from haw much hs already sold so i

Eg"}l 600-12=588 and i gnt 12 from the chard, he sold 5 candy bars for 12
ollars

2448 § SO00
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2 T2-10

Leon is selling candy bars for a school fundraiser. He raises $3.00 for each candy bar
he sells. The graph shown below represents the total amount of money, in dollars,
Leon has raised based on the number of candy bars he has sold.

Leon’s Candy Bar Sales
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The pattern continues.

A. Which axis represents the number of candy bars sold?

X OXNS

B. Write the ordered pair that represents the amount of money Leon raises for
selling 6 candy bars.

616
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set 2 T2-10

Continued. Please refer to the previous page for task explanation.

C. Explain why it is not possible for any of the points on the graph to have a
y-coordinate of 77.

B@(,CNS@ '\jr 'S ot an
even nuMber

Last year, Leon raised a total of $240 from his candy bar sales. This year, his goal is
to raise at least 2.5 times that amount.

D. What is the fewest candy bars Leon needs to sell to reach his goal for this
year? Show or explain all your work.

100 C()\V\&\ bors
becawse 600‘7)(.00: 200
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PSSA Math: Leon's Candy Bar Sales (Grade 5), Training Set Two

Subject: Math Item: Leon's Candy Bar Sales Grade: 5

Name

Number Score Notes

T2-1

T2-2

T2-3

T2-4

T2-5

T2-6

T2-7

T2-8

T2-9

T2-10
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